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C800UB0‐1 Eduqas GCSE French Component 2 Higher Tier

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1574 2.1 1.2 5 41.9 100
2 1572 1.4 1.2 5 29 99.9
3 1574 2.4 1.3 5 48.3 100
4 1573 1.1 0.9 4 28.6 99.9
5 1572 1.9 1.2 4 48.4 99.9
6 1573 2.4 1.3 5 47.1 99.9
7 1574 2.5 1.4 5 50.2 100
8 1574 3.8 1.6 6 63.4 100
9 1573 0.9 1.1 6 15.4 99.9
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C800UB0‐1 Eduqas GCSE French Component 2 
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question 2 [5] 
 
Section 1 
 
Guide : Bonjour messieurs et mesdames. Nous sommes ici au pied de la célèbre tour 


CN, la tour la plus haute du Canada. Votre premier arrêt sera la plateforme 
panoramique en verre. Ensuite pour les plus courageux, vous pourrez 
continuer votre montée jusqu'à la Nacelle en utilisant un ascenseur ultra-
rapide. Attention. Il vous faudra un billet supplémentaire pour arriver à la 
Nacelle. 


 
Section 2 
 
Guide : La Nacelle vous offrira en permanence un panorama unique sur 360 degrés. 


Lorsque les conditions météo sont idéales, on peut même voir au loin les 
Chutes du Niagara qui ne sont qu'à 130 kilomètres de Toronto.  


 
Section 1 
 
(a) (at) foot/base/bottom of the tower (1) 
 
(b) glass (1) 
 
(c) (extra/additional/another) ticket (1) 
 
Section 2 
 
(d) (a) view of 360 degrees/3600/a 360o view/panoramic view (1) 
 
(e) ideal/perfect/weather (conditions) (1) 












0



Sticky Note

Question 2 Section 1b
incorrect 0/1
Many candidates who answered this incorrectly gave "green" as they heard "verre" and recognised it incorrectly as "vert".
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0



Sticky Note

No mark

Like many candidates, 'le temps' was not recognised. 



Sticky Note

One mark awarded

'water skiing' - correct

'Hiking' - incorrect 

Hiking and walking are two different activities. 
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Sticky Note

No mark

Candidate has recognised 'Suisse' but failed to give the correct country in English. 
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Question 2	 [5]


Listen to the guided tour of the CN Tower in Canada. Answer the questions in English.


Section 1


	 (a)	 Where is the guide while he is talking to you?	 [1]


	


	 (b)	 What is the main feature of the panoramic platform?	 [1]


	


	 (c)	 As well as the lift, what is essential to get to the “Nacelle”?	 [1]


	


Section 2


	 (d)	 From the “Nacelle”, what can visitors always see?	 [1]


	


	 (e)	 What will enable visitors to see Niagara Falls? 	 [1]
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Question 4 [4] 
 
Section 1 
 
Moi, je m'appelle Mimi. J'ai rencontré mon amie Emma quand nous avions 8 ans. Nous 
habitions dans une jolie petite banlieue, mais malheureusement sa famille a déménagé deux 
ans plus tard pour aller vivre dans un appartement.  
 
Section 2 
 
Maintenant Emma dit qu'elle a de la chance car elle habite un grand appartement au centre 
ville. C'est vraiment pratique car elle peut aller partout sans utiliser la voiture. Pour moi, 
comme nous habitons la banlieue, pour aller aux magasins par exemple, ce n'est pas 
toujours facile. 
 
Section 1 
 


Where Mimi and Emma lived aged 8 (1) 
 


(in a nice/pretty) suburb/outskirts 


When Emma's family moved (1) two years later/after two years/when they 
were 10/two years after they met 


 
Section 2 
 


Emma's opinion of living in the town centre (1) 
 


(she says) she is/it's lucky 


Reason for this opinion (1) no need for car/easy to get to shops/easy 
to get to places/practical 


 
  












1


0


1


1



Sticky Note

Question 4 Section 2 
Reason for the opinion
1/1
"it is practical" is the correct answer. She has a big apartment is superfluous information but it does not contradict the transcript or the answer, therefore the mark is awarded.



Sticky Note

Question 4 Section 1
Incorrect
Many candidates read "when" incorrectly as "where".



Sticky Note

Question 4 Section 2
Emma's opinion
"she is lucky"
1/1 Correct
Many candidates answered this incorrectly with "practical".








1


1


1


1



Sticky Note

Question 4 Section 1 part 2
Correct 1/1
This was one correct answer for this section. "after 2 years" or "when they were 10" were also correct alternatives.








0



Sticky Note

Question 4 Section 1 
When Emma's family moved
Incorrect 0/1
Some candidates misheard "deux" as douze and deduced incorrectly that they were twelve when Emma moved.
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Question 4	 [4]


Listen to Mimi talking about where she and her friend, Emma live.


Complete the grids in English.


Section 1


Emma’s opinion of living in the town 
centre	 [1]


Reason for this opinion	 [1]


Where Mimi and Emma lived aged 8	 [1]


When Emma’s family moved	 [1]


Section 2
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Question 5 [4] 
 
Section 1 
 
Pauline : Super ! Papa a dit qu'on pourra aller à la fête des fleurs au mois de février 


cette année. 
 
Marc : Mais il fera trop froid pour rester en plein air pour regarder les spectacles. 
 
Section 2 
 
Pauline : Non, idiot, le festival aura lieu à Nice dans le sud de la France.  Il fera doux et 


on pourra se relaxer. Et puis le soir il y aura des feux d'artifice. 
 
Marc : J'ai horreur des feux d'artifice. Le bruit, ça ne me dérange pas, mais c'est 


vraiment une perte d'argent. En plus, ils coutent une somme d'argent énorme, 
qu'on ne peut pas justifier. Non, je n'ai aucune envie de t'accompagner là-
bas. 


 
Section 1 
 
(a) Pauline va aller à la fête des fleurs en février. (1) 
 
(b) Marc pense que le temps sera froid. (1) 
 
Section 2 
 
(c) Selon Pauline, la température permettra aux gens de (se) relaxer/(se) détendre. (1) 
 
(d) Marc n'aime pas les feux d'artifice car ils coutent beaucoup. (1) 
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1


1


1



Sticky Note

Question 5 Section 2d
1/1 Correct
Correct answer is "coutent", although the verb "sont" with "cher" conveys the message.



Sticky Note

Question 5 Section 2c
Correct 1/1
relaxer was awarded the mark even without the reflexive pronoun "se".
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Sticky Note

Question 5 Section 2d
Correct 1/1
"coute" is a correct alternative to "coutent".
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Sticky Note

No mark

Confusion of 'diversité' and 'université'. 



Sticky Note

No mark

historian = expert in or student of history - incorrect
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Question 5	 [4]


Pauline et Marc parlent d’une fête. Complète les phrases en français.


Section 1


	 (a)	 Pauline va aller à la fête des fleurs en  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  .	 [1]


	 (b)	 Marc pense que le temps sera  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  .	 [1]


Section 2


	 (c)	 Selon Pauline, la température permettra aux gens de  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  .	 [1]


	 (d)	 Marc n’aime pas les feux d’artifice car ils  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  
beaucoup.	 [1]
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Sticky Note

One mark awarded

'skiing' - incorrect

Most candidates did not recognise 'nautique'. 

'walking' - correct



Sticky Note

No mark

Most candidates did not recognise 'le temps'. 
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fmartin

Sticky Note

One mark

Candidate has successfully understood 'pas en trouver'.



fmartin

Sticky Note

No mark

'Tablette' is different to 'ordinateur portable'.



fmartin

Sticky Note

No mark

Candidate recognised 'quinze' but failed to identify 'pourcent'.

Many candidates made this error. 
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Sticky Note

Question 6 Section 2 part 2
1/1 correct
"parler avec les filles" is an acceptable alternative to "collaboration".



Sticky Note

Question 6 Section 1 part 2
correct 1/1
"dispute" is an acceptable alternative to " se disputent".
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1


0



Sticky Note

Question 5 Section 2d
Correct 1/1
"coute" is a correct alternative to "coutent".



Sticky Note

Question 6 Section 2 part 1
incorrect 0/1
Candidates had to convey that "enseignement" or "éducation" is the same.
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1


1


0



Sticky Note

One mark

'running out of food' - correct

Understood inference of 'pas assez de bambou'.





















1


0


0


0


1



Sticky Note

No mark

'Big problems' - correct

'including industrial' - incorrect

Plus one minus one rubric.



Sticky Note

No mark

TWO answers given for a ONE mark question. 

'Industrial problems' - incorrect

'animals' - correct

Incorrect superfluous information. 

Plus one minus one rubric. 
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Question 6 [5] 
 
Section 1 
 
Maria : Tu sais, Bertrand, il existe en Angleterre des collèges exclusivement pour 


filles. C'est très bien, car les distractions sont rares. Mais je trouve que les 
filles se disputent trop souvent. 


 
Section 2 
 
Bertrand : Je suis d'accord Maria. Mais dans un collège mixte, tout le monde bénéficie 


d'exactement le même enseignement. Bien sûr, il y a des garçons qui sont 
timides. La collaboration avec les filles, c'est quelque chose qu'ils doivent 
apprendre. 


 
Section 1 
 
Maria: 
 


Avantage  (1) distractions (sont) rares)/pas de distractions 
 


Inconvénient  (1) (les filles) se disputent (trop souvent)  
 


 
Section 2 
 
Bertrand: 
 


Avantage  (1) même enseignement/mêmes cours 
 


Difficulté pour certains garçons  (1) (ils sont) timides 
 


Obligation pour les garçons  (1) 
collaborer/collaboration (avec les filles) 
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Question 6	 [5]


Maria et Bertrand parlent des collèges. Complète les informations en français.


Section 1


Maria :


Avantage	 [1]


Difficulté pour certains garçons	 [1]


Obligation pour les garçons	 [1]


Avantage	 [1]


Inconvénient	 [1]


Section 2


Bertrand :
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Sticky Note

Question 7 Section 2d
correct 1/1
Although "swing" is mentioned, the mark is awarded as the candidate has stated that it will "improve"



Sticky Note

Question 7 Section 2c
Incorrect 0/1
Candidates didn't read the "characteristic" part of the question and gave the equipment "dad's old racket" as an answer rather than the characteristic "lightweight".
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0



Sticky Note

Question 7 Section 2c
Incorrect 0/1
Candidates had to have "it is light" or "lightweight". "weight" on its own is not sufficient.



Sticky Note

Question 7 Section 1a
Incorrect 0/1
He has come to school to learn how to play tennis.
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0



Sticky Note

No mark

Answer requires 'give information' about a (different) language /  languages. 
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1



Sticky Note

No mark

'Her family are foreign so she can speak lots' - incorrect

Johanna speaks TWO languages, English and French.



Sticky Note

One mark

vlog = a blog in which the postings are primarily in video form
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Question 7 [5] 
 
Section 1 
 
Femme : Alors Thierry, pourquoi es-tu venu ici ? 
 
Thierry : Je voudrais apprendre à jouer au tennis. 
 
Femme :  Et pourquoi est-ce que tu as choisi cette école ? 
 
Thierry :  C'est mon père qui me l'a recommandée. Il dit que c'est la meilleure de 


toutes. 
 
Section 2 
 
Femme : Tu as déjà une raquette ? 
 
Thierry : Oui, je vais utiliser une ancienne raquette de mon papa. Elle est très légère, 


moins d'un kilo, alors j'espère qu'elle m'aidera à améliorer mon jeu.  
 
Femme : Bon tu auras ton premier cours dans dix jours. Ça va ?  
 
Thierry : Oui, merci, madame. Au revoir. 
 
Section 1 
 
(a) to learn (to play) tennis (1) 
 
(b) best (school in region)/excellent/superior (to others) (1) 
 
Section 2 
 
(c) (it's) light/not heavy/less than 1 kilo  (1) 
 
(d) improve it/make it better/help his game  (1) 
 
(e) first lesson/lessons begin (1) 
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Question 7	 [5]


Listen to this conversation. Answer the questions in English.


Section 1


	 (a)	 Why has Thierry come here?	 [1]


	


	 (b)	 What does Thierry’s father say about this school?	 [1]


	


Section 2


	 (c)	 What is the most important characteristic of Thierry’s equipment?	 [1]


	


	 (d)	 How will this affect Thierry’s performance?	 [1]


	


	 (e)	 What is going to happen in ten days’ time?	 [1]


	











